B VCE & PDF https://lwww.geekcert.com/h13-341.html
' 2024 Latest geekcert H13-341 PDF and VCE dumps Download
: GeekCert.com

H13-341°%4

Huawei Certified internetwork Expert - Transmission

Pass Huawei H13-341 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/h13-341.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

H13-341 PDF Dumps | H13-341 VCE Dumps | H13-341 Exam Questions 1/3


https://www.geekcert.com/h13-341.html
https://www.geekcert.com/h13-341.html
https://www.geekcert.com/h13-341.html

VCE & PDF https://lwww.geekcert.com/h13-341.html
2024 Latest geekcert H13-341 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following Optical NE types are defined in U20007?
A. WDM_OEQ

B. WDM_OTM

C. WDM_OLA

D. WDM_OADM

Correct Answer: A

QUESTION 2

The maximum output optical power of an OBU board is 20 dBm, when it is used in a C-band 80-channel system, what is
the standard per-channel output optical power?

A. +1dBm
B. -2dBm
C. +7dbm
D. +4dBm

Correct Answer: A

QUESTION 3

In the case of the OptiX OSN equipment, when the standby board is normal, which of the following operations does not
cause the active/standby switching of the cross-connect board or clock board?

A. Delete the active cross-connect board or clock board logically.

B. Open the upper and lower ejector levers of the active board at the same time.
C. Deliver the active/standby switchover command.

D. Perform a cold reset on the cross-connect or clock board.

Correct Answer: A

QUESTION 4
Which of the following statements about the line fiber quality monitoring performance parameters is wrong?

A. The pulse width of emitted optical pulses varies according to monitoring modes, and affects the detection distance
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and measurement precision. A greater pulse width provides a larger dynamic range, longer detection distance and
better measurement precision.

B. When the pulse width increases, the light emitting time increases and consequently a larger energy is obtained. This
means that a larger dynamic range can be acquired but also larger dead zones will result.

C. Measurement is performed multiple times within the detection time. The average value is obtained based on the
measurement result to improve the measurement precision. The actual duration from the time when a detection event
starts to the time when the detection results are returned will be longer than the Detection time.

D. The total fiber loss will affect the detection distance and dynamic range is fixed for the same detection mode.
Therefore, a larger total fiber loss indicates a smaller detection distance.

Correct Answer: A

QUESTION 5

MPLS tunnel APS protection supports multiple types of command switching and has different priorities. Which of the
following commands switching types has the highest priority?

A. Locked Switching
B. Practice Switching
C. Force Switching

D. Manual Switching

Correct Answer: C
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